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Topic: Proofs with the Addition Postulate

S)

Given:

AB=ED/

FE = CBY
FE L ADY

CB L AD

Prove:

Given:

/

AAEF = ACBD

LA=sDY

AE=CD/
CALB Z<DEF

Prove:

AABC = ADFE
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Given: SU = Q_\/
PS = RT-

Fi ®57

Prove: APQR = ASTU

Given: AE 1LDB
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DE =FB
DC=AB

Prove: AABE = ACDF
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Name;

- Topic: Proofs with the Addition Postulate

5)

Given: AB =ED
FE=CB
FEL AD
CBLAD

Prove: AAEF = ACBD
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Topic: Proofs with the Subtraction Postulate

10)

Given: /BCE = /DCE
AC bisects ZBAD

Prove: AABC = AADC

11)

Given: /M=/D
ME = 1D
ZTHE = £SEH

Prove: ATMH = ASDE
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12)

Given: PQ=DE
PB = AE
QA LPE
DB L PE

Prove: /D= /Q

13)

Given: FB=CE
AC =BD
FA LAD
DE L AD

Prove: KF—E_])_E
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